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Ch. 2.4 Chain Rule HW Problems #102, #115 5’

S 102. Using Relationships Given that g(5) = -3, g'(5) =6,

h(5) =3, and K (5) = —2, find f(5) for each of the
following, if possible. If it is not possible, state what

additional information is reqmred
Recall- ’proJuUF rade J;(f(x) (x) = \(’(X)(j ()()) + 10()() 'x)
guo‘} em“' Y“"(L :1 F(K) 'F /x)q&) ‘F6<)q {)

M 769 = q0x)> v

, _C/"f'_'h rule : jé‘p[j 6] = £1500) - ‘9 'x) ¥c/w'n rule

@) fix) = 3(@7’@)] *product vule. | (b) f (x) = g(h(x))
1) = f[x)l\(xj+ ()b (x) T4y« [A(x]./,’(

, =9 x e

F ) 3(5)”5)*5“') ) t0s) = 9'[M9]- h15) ( 2 j@
f15)= 6¢3) + (-3)(~2) -%’(3) h(s)
-F(s)- 18+¢=ay m ~303).-2

L) (C) f (X) gﬁ; ¥ im‘ﬁ’en‘/' rude. (d) f (x) {g(x)]3 K Bain rule

§ (x): jfx)‘“ \7(5‘)‘«’(%\ E D) i g[j(ﬁjj ) £75)=1¢2
G 3 ) 3( 5] q75) J

’ ’, _ Iy om =lg-¢ 2 .
£ (5)= 105 As)- 5(5)h2s) | ~ 74/3 - 3[‘_3]2» ¢

h(5)>
[€ts)=4] | = 3(9)(¢) = [62
115 Think Abmlt It Let r(x) = fle(x)) and s(x) = g(F(x)),
" where f and g are shown in the fi gura Fmd (a) r’{l} ané & Appéy chein rudy.
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Ch. 2.4 Chain Rule  HW Problems #102, #115
102. Using Relationships Given that g(5) = —3,8'(5) = 6,
(/w h(5) = 3, and A'(5) = —2, find f'(5) for each of the
) following, if possible. If it is not possible, state what
additional information is required.

Recall: Product Rule: —f(x)g(x) f'(x)g(x) + f(x)g'(x) Quotient Rule: — [fgx;] (x)g([z)(;)f](zx)gl(x)

Chain Rule: af[g(x)] =f'lg()] * g'(x)

(a) f(x) = glxh(x) (b) f(x) = glh(x))
© flx) = hgg @ fix) = [g(n)]?

115, Think About It Let r(x) = f(g(x)) and s(x) = g(f(x)),
where f and g are shown in the figure. Find (a) r’(1) and

(b) 5'(4).
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